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[EFREE — SHMxE (20194F) 9A28 EHAHRE]
BTTEA 8 z &t

A& LT 1,032 1,083 2,115
J\EHT 1,425 1,530 2, 955
J\ B HT 806 825 1, 631
J\RHT 402 360 762
1B 5 HT 125 656 1, 381
FAB1TH 593 586 1,179
FAHT2TH 854 938 1,792
FABT3TH 914 959 1,873
FAHT4TH 551 507 1,058
=) 474 470 944
FTAMET 1 TH 695 635 1,330
FTAMET 2 TH 503 583 1,086
FTAMET 3 TH 560 510 1,070
TAMET 4 TH 587 632 1,219
e BT 605 609 1,214
Z SRR T 225 235 460
PN i1 392 376 768
ZRHT 168 802 1,570
FTAEILET 1 T H 509 521 1,030
FTTAEILET 2 T H 828 820 1,648
FTHEILET3TH 804 139 1,543
FH BT 164 64 228
Eoil] 444 457 901
BAtRET 1 T B 1, 000 945 1,945
BAtRET 2 T B 963 1,012 1,975
BR#ET 3 T B 618 589 1,207
BAfRET 4 T B 1,215 1,270 2, 485
FZRET1TH 2,024 1,986 4,010
FZRET2TH 1,257 1,164 2, 421
FZRET3TH 887 818 1, 705
FRET4TH 136 193 1,529
ST 50 49 99
AEHT 407 463 870
= I HT 169 157 326
rp BT 150 121 271
£l 418 397 815
ST 111 639 1, 350
3 T 1,113 1,046 2,159
i 0:0) 1, 221 1,174 2,395
R T 299 286 585
FA#THT 257 212 469
/INPAHT 7191 134 1,525
=81 TH 858 880 1,738
=fr2TH 906 961 1,867
=l 3TH 1,138 1,158 2,296
=frT4TH 1,113 1,222 2,335
rh EF T 1,668 1,828 3, 496
BEHT 1 T B 1,291 1,240 2, 531
BElT 2 T B 820 821 1,647
BElT 3 T B 420 408 828
FHELUE1ITH 575 599 1,174




[(EFREER — HHMxE (20194F) 9A28 EHKBAHRE]

BTTEA 8 z &t
PHELE2TH 129 623 1,352
PHELEITH 950 1,362 2,312
PELET1TH 145 155 1, 500
hEHLET2TH 640 579 1,219
HEHLET3ITH 607 655 1,262
PEHLET4TH 914 923 1,837
HELETSTH 681 648 1,329
AHMHEET1TH 1,479 1,525 3, 004
AHMHEET2TH 598 531 1,129
AHMHEBT3TH 1, 106 1,007 2,113
AHMHEET4TH 532 527 1,059
AHMHEBTSTH 937 888 1,825
AHMHEET6 TH 1,424 1,196 2,620
AFHEET7 TH 196 165 1, 561
=T R 590 668 1,258
HoRHET 2,047 1,875 3,922
5 )| ET 528 578 1, 106
BRI HT 4,942 4,930 9,872
#)RHET 1,416 1,488 2,904
= T 1,276 1,218 2, 494
A% )| T 118 123 241
78,5 )11 BT 298 308 606
EsEM 489 535 1,024
BT 320 288 608
THA 1,178 1,054 2,232
THA2TH 1,123 958 2, 081
THA3TH 1,324 1,526 2, 850
LR 1,113 1,055 2,168
EHAR2TH 871 884 1, 755
EHARITH 2, 386 2,762 5,148
il 356 339 695
BE7K 133 122 1,455
5%K2TH 2,935 3,147 6, 082
MmAR1TH 668 544 1,212
MmARNR2TH 1,063 876 1,939
MmAR3TH 1,582 1,933 3,515
MmARNRA4TH 1,672 1, 931 3, 603
MmARS5TH 2, 064 2,235 4,299
HEp 1,673 1,399 3,072
(N 2,988 2,822 5,810
BFr1TH 4,520 4,836 9, 356
BFr2TH 3,749 4,186 71,935
mEe1TH 347 384 131
mEe2TH 614 671 1,285
mkse 3TH 385 443 828
YE 2N 1,332 1,320 2, 652
E2N2TH 612 422 1,034
E2N3TH 1, 366 1,159 2,525
R 2,007 1,746 3,753
KiF 3, 064 2, 801 5, 865
BES 1,224 1, 367 2, 591
mhra 2,104 2,271 4,315
lf A HT 1,392 1,368 2,760
BYEHET 1 TH 807 899 1, 706
BYEHET 2 T H 1,153 1,271 2,424
EYEHET 3 TH 1,536 1,555 3, 091




[(EFREER — HHMxE (20194F) 9A28 EHKBAHRE]

BTTEA 8 z &t
AYEHET 4 T H 1, 041 1,034 2,075
AYEAT5 T H 1,211 1,183 2, 394
1L1 E T 1,153 1,090 2,243
HLAE1TH 934 1,064 1,998
HLAE2TH 1,102 1,272 2,374
HLAE3TH 602 695 1,297
HLAE4TH 129 824 1,553
REHT 5, 354 6, 223 11,577
WILF1TH 352 401 753
WILF2TH 393 418 811
Tk i ET 2,587 2, 803 5,390
A EB BT 3, 630 3, 664 1,294
AEHT 5,242 4,641 9, 889
< HHT 2,700 2,755 5, 455
P, NieL:i] 195 182 1,577
R HESFHT 2, 241 2,180 4, 421
&S 1,487 1,503 2,990
A EAHT 2,220 2,222 4, 442
o 2 BT 1,155 1, 100 2, 255
25 T 151 832 1,583
SR T 1,359 1,394 2,753
18 ) | BT 4,536 4, 661 9,197
0 Wil ] 1,919 1,785 3, 704
J11 BT 1,034 1,074 2,108
T/\EFHT1TH 944 898 1,842
T/\EFHT2TH 2,320 2,348 4,668
T/\EFHT3TH 1,563 1,658 3, 221
TESH] 2,943 3, 056 5,999
£ B75HT 335 324 659
78 5F S HT 2,549 2, 469 5,018
NE i) 101 94 195
JI1 5 BT 5,250 5,218 10, 468
L JIET 683 690 1,373
ABH 2, 659 2, 809 5, 468
483 [ BT 3,610 3,674 1,284
5 LLIET 1,176 1, 291 2,467
I HT 59 40 99
= AHT 888 144 1,632
FEILET1TH 385 229 614
FEILET2 TH 256 304 560
1T HT 133 153 286
A FrHy 611 620 1,231
HDOVE1TH 319 346 665
HDONE2TH 639 683 1,322
FARET1TH 131 623 1,354
FARET2TH 345 311 656
FAARBT3TH 252 257 509
MEET1TAE 212 210 422
MEET2TH 55 59 114
= THT 595 618 1,213
F RRHET 661 609 1,270
= A T 179 147 326
/N EE 1 T 2,922 2,765 5, 687
aw-1:] 5,283 5, 256 10, 539
BHAE1TH 234 235 469
BHAE2TH 414 482 896




[(EFREER — HHMxE (20194F) 9A28 EHKBAHRE]

BTTEA 8 z &t
BHAE3TH 368 394 162
FIREHT 23 24 47
H1EHEF1TH 676 671 1,347
H1EHEF2TH 363 371 134
H1EHEFITH 144 170 1,514
H1EHEFA4TH 871 883 1,754
HEHEFSTH 926 958 1,884
H1EHEFE6TH 290 378 668
ER/1TH 518 513 1,031
Ef/2TH 358 328 686
tE1TH 356 354 710
tE2TH 440 492 932
tE3TH 535 554 1,089
tE4TH 118 155 1,473
tESTH 136 195 1,531
tE6TH 816 830 1, 646
JL ErHT 3, 365 3,078 6, 443
TS HT 3, 943 4,003 1,946
tEHEE1TH 570 678 1,248
tHEE2TH 529 582 1,111
tEHEE3TH 620 121 1, 341
tHEE4TH 476 517 993
tEHEES5TH 101 169 1,470
~iBH] 3,210 3, 366 6, 636
Ww7yE1TH 959 1,028 1,987
Hw7E2TH 848 908 1, 756
#w7E3TH 696 161 1,457
=2 fT 1,438 1, 340 2,778
Z=pl1L:} 4,580 4,11 8, 751
FIEAKHET 1,372 1,316 2, 688
BT 157 167 324
INEHT 2,263 2,165 4,428
ARIIET1TH 1,095 1,132 2,227
ARILET2TH 1,049 1,116 2,165
RAHT 1, 600 1,483 3,083
FLLLIET 507 517 1,024
aEt 234, 641 236,410 471,117




